02 - SB - Midpoint and Partition.notebook

Warm-Up u

April 18, 2019

1. Put your phones away.

2. Take out your 2 HWs and 2 Calendars
to be checked.

What am | learning today?
Learning Objective 5.2

How to calculate the midpoint
of a line segment
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Midpoint - The point HALFWAY between two

points.
15t point (xq,v,) 2 point (x,, v,)
(Endpoint) (Endpoint)

FORMULA: / Xi*Xa Y, +y,
X 2

1. Find the midpoint between (0,4) and (-6,2)

O +(-) ‘”9>
{ Q ) ]
(_?)/ ?))
2. Find the midpoint between (-3,-5) and (-2,-8)

—3+(-2) —5+¢-%)
A ) Q
S

— -13
( X, Q)—» (2.5 -65)




02 - SB - Midpoint and Partition.notebook April 18, 2019

3. Find the midpoint.

SPCLIEL LS
(-3aM) ( 2 ) X
i R
2+ 3 ! (‘-l,él)
D T2 3 4

4. Find the other endpoint of the segment AB if
A(3,5) and the midpoint is (8,0).

EESEN ] 214G B(13,5)
lp= 3t SR
|3:X -9S° \5

5. If one endpoint is (-8,3) and the midpoint is
(0,3), what is the other endpoint?

+X +rUW_3>

0 we-d o (g,3)
-§+X =0 ’5’“5",
*?i( +8 -3 ,,;

X=g -

6. Endpoint: D(-3,-5) and Midpoint: M(-3/2,6).
Where is the other endpoint?

—3 4% =3
2R e >
+ 6 +06 \a —6'\’\ﬁ
O:2x ro 49
2 2 NE
0= X R
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Learning Objective 5.3

How to partition a line segment

Partitioning - Calculating a point somewhere in
between two points that CUTS a line segment
iInto a proportion.

15 p%kint (x1,¥1) 2n point (x,, v,)
(Endpoint) (Endpoint)
FORMU
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1. Given the points A(3,4) and B(8,10), find the
coordinate of P on the segment AB thay

artitions AB in the ratio.1 2 =2
p /1/ S+ /01 Ol+b >3

o
(3+3<g 3) L_‘*3((O’L\3)
5, (03—>(L{.(o“7,w5

2. Given the points A(3,4) and B(8,10), find the
coordinate of point P on the segment BA that
partitions BA in the ratio 1:2.

/7 IS+

(8+5(>-8), 10+ 3(" “’O>>
(%’ 854(‘0.%,8)

3. Given the points A(-3,5) and B(-8,7), find the
coordinate of point P on the segment AB so that
P is 4/5 away from(A) 13+

(-3 + ‘5‘(—?—(—33\) 54‘%(7 - 5\)
(-7, 22\ = (-7, 6.6

4. Given the line segmen@ﬁ\ with A(-1,0) and
B(-2,4), partition the line segment using 1/3

/_84(—:-,‘;(—.{— (-133, é—/+’3'—(0- 4 )

(= B\ o (-l 2.07)
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5. The map shows a straight highway between
two towns. A highway planner wants to put
TWO new rest stops between the towns so that

it divides the highway into 3 equal parts. Find
the coordinates of the rest stops.

A A A B

0:00:00

o vV Vv

Classwork: u

Complete the classwork about midpoint,
partitioning, and review over linear
equations (parallel and perpendicular)

HW: Finish your classwork
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